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QUESTION 1

Which TMap phase may be located on the critical path? 

A. Planning and Control 

B. Specification 

C. Execution 

D. Preparation 

Correct Answer: C 

 

QUESTION 2

See the specification below in which a decision point is described: 

R = (D OR E) AND F 

Use of the coverage type decision points modified condition/decision coverage produces the following table with test
situations: 

Which values are missing where the dots are stated (? to make the table complete? 

A. 010 

B. 011 

C. 110 

D. 111 

Correct Answer: B 

 

QUESTION 3

Problems can be prevented by looking closely at the way the starting point for the test execution must be structured and
which process must be deployed when using it. Which problem does this not prevent? 

A. production disruptions 

B. a deteriorating starting point 
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C. testing gets increasingly expensive 

Correct Answer: A 

 

QUESTION 4

Which type of tool is used in the Execution phase to test a module or component that has a relationship with programs
that have not yet been realized? 

A. code coverage tool 

B. comparator 

C. \\'model-based testing\\' tool 

D. stubs and drivers 

Correct Answer: D 

 

QUESTION 5

What is an advantage of the BDTM approach? 

A. a test process that can be controlled by the client 

B. a cheaper test process 

C. a risk-free production launch of the tested system 

Correct Answer: A 
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